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8.0 OBJECTIVES

After going through this unit, you would be in a position to

e explain the concept and functions of money;
e illustrate the measures of money supply in India;
e explain the concept of sot money; and

e demonstrate how banks create credit under the fractional reserve banking
system.

8.1 INTRODUCTION

Ordinarily, money is spoken about in terms of income or wealth. For instance, a
person may say that he has a lot of money (that is, wealth) or he made of lot of
money in the previous year (that is, income). But, economists use the term
‘money’ in a more technical sense. In economics, money is the stock of assets
which is used to pay for things or for transaction purposes. It is a medium of
exchange; for example, cash in the hands of public (any currency — rupee, dollar,
yen, etc.).

What led to the evolution of money or paper money? Going back to the ‘barter
system’, such a trade is simply inconvenient and it also requires a double
coincidence of wants which is not always possible. Hence, a better and easier
method of facilitating transactions had to evolve. The evolution of commodity
money is not surprising as people readily accept commodities having some
intrinsic value. In the past, commodities such as gold were used as money. Such
type of money having an intrinsic value (for example, gold can be used as
jewelry) is called ‘commodity money’. During the late nineteenth century gold
standard was commonly prevalent across the world. Under the gold standard,
gold or paper money redeemable for gold was used as a medium of exchange.
But what led to the development of fiat money?
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It is surprising as people value an intrinsically useless commodity such as paper.
The inconvenience of carrying around bags of gold and weighing it every time a
transaction is conducted led to the development of ‘fiat money’. Gold has to be
checked for purity and weight whenever an exchange is made. Alternatively, the
government can issue gold coins of known purity and weight to be used for
transactions. As a next step, these gold coins are replaced by gold certificates, or
paper bills which the public can redeem for gold. Even such a gold backing
becomes irrelevant in the end as everyone values paper money and does not care
to redeem it for gold. Hence, fiat money evolved because of social convenience
of using it. Paper money or fiat money has no intrinsic value but government
decree or fiat establishes paper currency as money.

In this unit we will discuss the functions of money and measurement of money
supply. Also, we will learn about the hot money, and its effect on the domestic
economy. Then we will learn about the money multiplier. The monetary base
increases manifold over time, which increases the money stock in a
multiplicative manner in the economy.

8.2 FUNCTIONS OF MONEY

Broadly, the functions of money are as follows:
Store of Value

Money is a store of value as it can be saved and spent in the future. In other
words, it can be used to carry forward the purchasing power into the future.
However, it is not a perfect store of value. If the prices are rising, the purchasing
power of money declines.

Unit of Account

Money is similar to a yardstick or a measuring rod. Prices of all commodities are
quoted in monetary terms. Even though resource allocation is based on relative
prices, that is, price of one commodity versus another, prices are not quoted in
relative terms. We do not see price of a computer expressed in terms of prices of
onions, for instance. Hence, money plays a very important role of measuring
economic transactions.

Medium of Exchange

As pointed out earlier, money is the medium which facilitates exchange of goods
and services in an economy. It is the economy’s most liquid asset as it can be
easily used for buying goods and services. An asset is said to be liquid if it can be
used immediately, conveniently and cheaply for making payments.

Standard of Deferred Payment

Money is also a standard of deferred payment as the amount to be repaid in the
case of loans are specified in monetary terms. But due to erosion in the
purchasing power of money due to increasing price level, sometimes, the loan is
indexed such that the amount to be repaid is related to the expected price level or
the rate of inflation.



8.3 MEASURES OF MONEY SUPPLY

How is the quantity of money, or the money supply, in the economy measured?
As per the definition of money, the quantity of money is the stock of assets used
for transactions in the economy. Such a stock can be measured easily in simple
economies with commodity money in prevalence. In this case, the quantity of
money is the number of units of the commodity used as money. In complex
economies, various assets such as cash, chequeing account deposits, etc. are used
for transactions. Therefore, various assets can be included in money supply.
Currency is included and so are demand deposits (e.g., deposits in the current
account). Cheques or debit cards against current account or saving account can be
used as conveniently as money. Since many assets qualify for inclusion in the
money stock, there are various measures of money supply depending on which
assets are included.

There are four measures of money supply in India: M1, M2, M3 and M4. We
start with the most liquid measure of money supply, M1. It includes the liquid
claims which can be used directly, instantly and without restrictions to make
payments. Hence, it is closer to the definition of money as a means of payment.
The liquidity decreases as we move to other monetary aggregates, viz., M2, M3
and M4 in that order. Hence, M4 is the least liquid measure of money supply. We
define each of the above-mentioned measures below.

M1= CU + DD + OD = Currency held by the public (Coins and notes in
circulation) + Demand Deposits in Banks + Other Deposits in RBI

Demand deposits are those deposits which the account holders can withdraw any
time (e.g., current account deposits). Saving deposits are not included in demand
deposits because they are subject to withdrawal restrictions. Other deposits with
the RBI include demand deposits of public financial institutions, demand deposits
of foreign central banks and financial institutions like IMF, World Bank, etc.

M2 = M1 + Saving Deposits of Post Office Saving Banks
M3 = M1 + Net Time Deposits of Banks

M4 = M3 + Total Deposits of Post Office Savings Organization (excluding
National Saving Certificates or NSC)

Here, M1 is also known as ‘narrow money’. Saving deposits of post offices do
not serve the medium of exchange function of money as they do not have cheque
facility. Hence, they are not included in M1. Similarly, fixed deposits are not
included in M1. You should note that M3 is known as ‘broad money’ since it
includes time deposits as well. For macroeconomic policy formulations, the RBI
takes into account M3 measure of money supply. Interest bearing bank account
deposits which cannot be withdrawn prior to the maturity date are known as ‘time

deposits’. Banks receive more money as time deposits compared to demand deposits.
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In addition to the above, there is another measure of money supply, that is, M0.
The MO is also known by several other names such as ‘monetary base’, ‘central
bank money’, ‘high-powered money’ and ‘reserve money’.

Reserve Money = Currency in Circulation + Bankers’ Deposits with the RBI
(MO) Other Deposits with the RBI

J’_

Net RBI credit to the government + RBI credit to the
commercial sector + RBI’s claims on banks + RBI’s net
foreign assets + Government’s currency liabilities to the
public — RBI’s net non- monetary liabilities

You should note that MO includes all currency in circulation, whether by the
public or by the banking system. On the other hand, M1 includes currency held
by the public. The amount of money held by the banking system is much larger
than the money held by the public. Thus MO is considerably larger than M1.

Check Your Progress 1
1. What led to the invention of paper money?



8.4 HOT MONEY

The term hot money is used to describe money which quickly moves from one
country to another in search of speculative gains. There is inflow of funds or hot
money in an economy if the interest rates in the economy are higher than the Rest
of the World. But such movements of funds are very volatile and they quickly
leave the economy if better returns are discovered in other countries.
You should note that Foreign Direct Investment (FDI) is not hot money, as it is
meant for long term investment. Traditionally, short term bank deposits were
used by investors to park hot money in other economies. In these days, with
financial globalization, Foreign Portfolio Investment or Foreign Institutional
Investment (FII) could be an example of hot money.

Hot money usually originates in capital-rich countries having low interest rates;
and destinations are economies with high interest rates or yield. Emerging
economies such as India, Brazil, China, Malaysia, etc. are recipients of hot
money inflows. These economies have high rates of return on investment because
of which they attract hot money inflows. India is considered a ‘safe heaven’ and
continues to be recipient of foreign capital inflows.

Although hot money positively affects consumption in the recipient country,
inflow of hot money has some negative repercussions as well. Since these are
basically short-run sudden inflows of capital, it may create inflationary pressures
in these economies. Hot money affects the exchange rate of the economy. Inflow
of hot money appreciates the exchange rate or increases the value of the currency.
On the other hand, outflow of funds depreciates the exchange rate. Hot money
flows are very volatile subjecting the recipient countries to instability. These
flows lead to volatile stock markets and large fluctuations in exchange rates.

Quick withdrawal of hot money from banks may also trigger a banking crisis.
Many believe that one of the causes of the 1997 East Asian Financial crisis was
sudden outflow of hot money. South Korea, Thailand and Indonesia were most
affected by this crisis. Having accumulated large amounts of short term foreign
debt which is a type of hot money, the exchange rate and asset prices in these
economies collapsed when capital started flowing out due to various factors.

8.5 CREDIT CREATION BY BANKING SYSTEM

This section discusses an important role of the banking system that is the creation
of credit. An understanding of this role of banks can be made by taking a look at
the balance sheet of a bank (see Table 8.1 below).

Table 8.1 Balance Sheet of a Bank

Assets Liabilities
Reserves Chequable Deposits
Loans
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People deposit funds in the chequeing accounts with banks. Such funds can be
withdrawn anytime with the help of cheques. Hence, the value of chequable
deposits is written on the liabilities side of the banks’ balance sheet. On the assets
side, we have loans and reserves. Some funds are held by banks as reserves,
partially as cash and partially with the central bank. These reserves are held for
several reasons. Taking any day, some people may deposits cash in their accounts
whereas others may withdraw cash. This outflow and inflow may not be equal,
making it important for banks to keep some cash on hand. Reserves are also held
for inter-bank clearing purposes.

In addition, banks are required to hold a certain fraction of their demand and time
liabilities in the form of cash balances with the central bank. Such a system is
known as the fractional reserve banking system. That is, only a fraction of the
bank deposits are backed by actual cash on hand and are available for
withdrawal. The fractional reserve banking system is the underlying basis for
creation of credit or expansion of money supply in the economy. Since all
depositors do not rush to withdraw their money at once and outflow of funds is
supported or filled by inflow of funds, banks need to keep only a fraction of
deposits as cash and they can loan out the rest. It makes credit expansion
possible.

The overall money supply in the economy is the outcome of the behaviour of
banks, public and the central bank. As already discussed in the preceding section,
the overall money supply (M) in the economy is the sum of currency (CU) plus
demand deposits (DD). That is

M =CU+ DD ...(8.1)

Let us assume that the currency-deposit ratio is ‘c’ such that,

c=CU/DD or,CU=cDD

Substituting the above value in (8.1) we obtain the overall money supply as

M =cDD+DD = (1+c)DD ...(8.2)

The central bank controls the overall money supply by controlling the Monetray

Base or High Powered Money ‘H’. The high powered money consists of currency
plus reserves ‘R’. That is,

H=CU+R ...(8.3)
Let us assume that the reserve-deposit ratio is ‘r’ such that,
r=R/DD

Hence, high powered money is given by,

H=(c+r)DD ...(8.4)

The highpowered money and the overall money supply are linked by the money
multiplier. The money multiplier is the ratio of the stock of money to the stock
of high powered money.

(d+c) H=mmH

That is, M =
(c+7)




Here, "mm" is the money multiplier which is given by

_ (1+0¢)
- (c+7)

mm ...(8.5)

Hence, the money multiplier is determined by the behaviour of the public and the
banks. There are two behaviuoural ratios which determine the money multiplier:
c and r. Smaller the ‘r’, the larger the money multiplier. Smaller the ‘c’, larger the
money multiplier. This implies that if less money is held as currency or as
reserves, more is available with banks for expanding credit. The money
multiplier is larger than 1. Both ‘¢’ and ‘r’ lie between 0 and 1. If ¢ = 0, people
hold no currency. If ¢ = 1, people hold only currency and banks have no role to
play. The currency deposit ratio depends on the costs of holding cash. If cash is
easily available through ATMs, less currency is held by public on average. The
reserve-deposit ratio includes both the required reserves and excess reserves.
Required reserves are those which banks are required to hold statutorily with the
central bank. Reserves in excess of required reserves are known as excess
reserves which banks can hold as cash on hand with themselves or as balances
with the central bank. These excess reserves are used to meet currency and
clearing drains as already discussed before.

An increase in H leads to a more than proportionate increase in overall money
supply. A given increase in H results in multiple expansion of credit, deposits and
money. For this reason, H is called High-powered money or monetary base. It is
through the operation of the money multiplier effect that banks create credit in
the economy. An example will illustrate the money multiplier process. Suppose
that the public comes to possess AH= 60 millions. This can occur if the central
bank buys bonds from the public through open market operations. Assume that ¢
= 0.5 and r = 0.1. Now, people keep 20 million as currency and deposit the rest
40 million in the banks. The banks keep 4 million as reserves (r = 0.1) and lend
out 36 million.

This forms the first round of credit creation as banks lend out 36 million. The
public again holds only 12 million as currency and deposit the rest 24 million in
banks since the currency-deposit ratio is 0.5. Now banks again keep 10 per cent
as reserves, that is, 2.4 million. And the rest 21.6 million is loaned out. This
forms the second round of credit creation. Again, the public 7.2 million in cash
and 14.4 million as deposits with banks and the process goes on.
In this manner, there are successive rounds of creation of deposit, credit and
money. With each round, the size of deposit, credit and money becomes smaller
and smaller. Each series of expansion of credit, deposit and money is an infinite
series which can be summed up. The rounds of expansion of deposits are 40, 24,
14.4....and the rounds of expansion of bank credit are 36, 21.6, 12.96...and so
on. The expansion of money supply is given by,

(1+0¢)
(c+7)

AM = AH = 2.5 %60 = 150 million

Hence, an injection of 60 million of H leads to money supply expansion by 150
million.
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Check Your Progress 2

1. X is an economy with no financial innovation. In this country, the Central
Bank requires the commercial banks to keep 100 per cent of their deposits as
reserves. Calculate the money multiplier for this economy.

2. “The overall money supply in the economy is the outcome of the behaviour
of banks, public and the central bank™. Prove this statement by deriving the
money multiplier.

8.6 LET US SUM UP

In this unit we learnt that money is the stock of assets which is used for
transaction purposes. It serves three broad functions: medium of exchange, store
of value and unit of account. The money supply is made up of currency and
demand deposits. Broader measures of money supply also include saving
deposits and time deposits as well as some interest earning assets. The overall
money supply in the economy is a multiple of the monetary base or the high
powered money. It is the fractional reserve banking system which forms the basis
of credit creation by the banks.

8.7 ANSWERS/HINTS TO CHECK YOUR
PROGRESS EXERCISES

Check Your Progress 1

1. See Section 8.1

2. See Sections 8.1 and 8.2

3. See Section 8.3

4. Credit cards are not counted in the economy’s money stock because they are a
means of deferring payment rather than making payments. When the credit
card holder clears all his dues, his chequeing account is used to write a
cheque. This chequeing account balance is a part of the economy’s money
stock. Debit cards however are used to make payments. It allows the user



instant access to his bank account. Such account balances behind debit cards Function of Money
are a part of the stock of money.

Check Your Progress 2
1. Money multiplier is equal to 1.

2. See Section &.5.
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9.0 OBJECTIVES

After going through this unit, you would be in a position to

e cxplain the relationship between money supply and prices;

e distinguish between Fisher’s approach and Cambridge approach to Quantity
Theory of Money (QTM);

e cxplain the Keynesian theory of Demand for Money; and

e illustrate how money market equilibrium is determined.

9.1 INTRODUCTION

In this unit we will discuss the relationship between money supply and general
prices, which is mainly dealt by the two approaches of the Quantity Theory of
Money, viz., Fisher’s approach and Cambridge approach. Both the approaches
suggest that an increase in money supply results in proportionate increase in the
price level. In the end of this unit we will discuss the demand for money and
money market equilibrium. People hold money because it has purchasing power;
its ability to buy goods and services. We notice that a person usually holds
certain amount of money capable of buying certain goods and services. This
amount varies across persons depending upon his income, preferences, interest
rate, etc. Hence, the demand for money is the demand for real balances or (M/P).
When there is an increase in the general price level (P), nominal money balances
(M) has to be increased in proportion to the rise in the price level ceteris paribus,
to keep real balances constant.

* Ms. Priti Agarwal, Assistant Professor, College of Vocational Studies, University of Delhi.



9.2 QUANTITY THEORY OF MONEY: FISHER’S
APPROACH

The Quantity Theory of Money is a classical theory which states that the price
level is proportional to the quantity of money in the economy. Classical
economists including Fisher emphasized the function of money as a medium of
exchange. People hold money to carry on the transactions, that is, to buy goods
and services. The value of such transactions is equal to PT, where P is the price
of a typical transaction and T is the volume of transaction of goods and services.
The value of ‘PT’ must be identical to the value of money flow used to buy
goods and services. The value of money flow is equal to the nominal quantity of
money supply ‘M’ (fixed by the central bank) multiplied by V, where V is the
transaction velocity of money or the number of times the money stock turns over
per year in order to finance the flow of transactions. That means it is the rate of
circulation of money or the number of times the currency notes change hands in a
given time period. Hence, the Fisher equation of exchange can be written as

MV =P .. (9.1)

Let us take an example. Suppose that 60 units of good Z is sold at the rate of Rs.
5 per unit in a given year. Then the value of transactions ‘PT’ is equal to Rs. 300
per year. If money supply (M) equals Rs.100, then the velocity V comes out to be
3 times per year. That is, in order for 300 rupees of transactions to take place per
year with 100 rupees of money, each rupee must change hands thrice a year. The
quantity equation is an identity, that is, the equality is maintained. If M increases
and V is constant, then either the price (P) or transactions (T) must increase.

Since the volume of transactions is difficult to measure, economists also use a
different version of Quantity Theory by replacing T with Y, the real total output
or income. In this format, the quantity equation can be written as

MV = PY ... (9.2)

The income velocity of money is the number of times the money stock turns over
per year in order to finance the annual income flow. Fisher argued that V depends
on the payment technology and the payment habits of people in society.
According to Fisher and other quantity theorists, “the equilibrium level of
velocity was determined by such institutional factors and could be regarded as
fixed in the short run”. The Classical economists also assumed that output Y is
fixed. If V and Y are assumed to be constant, the quantity equation is written as

MV = PY ... (9.3)

Hence, there exists a proportional relationship between exogenous money supply
and price level. The Quantity Theory of Money suggests that change in money
supply causes a proportionate change in the price level. This is the basic result of
the Quantity Theory of money which can be summarized as: “the quantity of
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money determines the price level”. This result can also be shown by expressing
the quantity equation in percentage terms as shown below.

% change in M + % change in V = % change in P + % changein ¥ ... (9.4)

Here, the central bank controls the percentage change in money supply.
Percentage change in velocity is zero as velocity is assumed to be constant.
Percentage change in price level is the inflation rate. Percentage change in output
depends on growth in factors of production and technological progress which are
assumed to be given. Hence, money supply growth determines the inflation rate
(as % change in Y is assumed to be zero).

Check Your Progress 1
1. How does ATM facility affect the velocity of money?

2. If V increases, what happens to the money demand curve?

9.3 QUANTITY THEORY OF MONEY:
CAMBRIDGE APPROACH

A variant of the Quantity Theory of Money is the Cambridge Approach named
after Cambridge economists, Marshall and Pigou. They showed that there is a
proportionate relationship between the quantity of money and the aggregate price
level. Marshall’s focus was on the optimal amount of money that an individual
holds. People hold money to meet transaction needs and also for precautionary
motives. But holding money has an opportunity cost of lost income if the money
were to be invested in assets such as bonds which earn interest. So “money will
be held in so far as the yield in terms of convenience and security outweighs the
income lost from not investing in productive activity”.



What is the optimal amount of money held by the public? These Cambridge
economists assumed that the demand for real money balances is proportional to
income. That is,

(%)d = kY ... (9.5)

Here, k is the fraction of income that people wish to hold as cash balances. It is
assumed to be constant. Now, at equilibrium, money demand is equal to money

supply.

That is,

(%)d =2 ... (9.6)
By equating (9.5) and (9.6), we find that > = k¥
or, M(%) = PY .. (9.7)
You should note that equation (9.7) is equivalent to MV = PY, where V = %

Thus, we see that the Fisher’s equation and the Cambridge version are
equivalent. Here, k is the money demand parameter and V is the velocity of
money. If people hold more money for each unit of income, V is small.
Alternatively, if people hold less money for each unit of income V is large, as
money changes hands very frequently. We observe that k and V are the two sides
of the same coin. Like the Fisher’s Approach where V is assumed to be fixed, k
is also assumed to be stable in the short run.

The above discussion draws parallels between the Fisher’s approach and the
Cambridge approach to the Quantity Theory of Money. Both the approaches
arrive at the same conclusion. However, in the Cambridge approach, the Quantity
Theory is seen from the perspective of demand for money. This approach derives
the proportionate relationship between quantity of money and price level by
assuming k and Y to be constant.

The Fisher’s approach, on the other hand, emphasizes on the supply of money. It
takes us through the channels by which money affects the price level. Let us
assume that the quantity of money doubles. It results in excess of money supply
over demand for money. People try to get rid of excess cash balances or reduce
their money holdings to optimal proportion of their income. The excess money is
put into consumption and investment increasing the demand for commodities.
This causes increase in prices.
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If output Y is constant and k is constant, the price level also doubles until the new
equilibrium is attained. At this point, nominal income (PY) as well as money
demand doubles.

Check Your Progress 2

1. Discuss the Quantity Theory of Money. Are the two approaches — Cambridge
and Fischer’s — essentially the same? What are the differences?

9.4 KEYNESIAN THEORY OF DEMAND FOR
MONEY

According to Keynes, demand for money is the preference for liquidity or the
public’s desire to hold cash and other forms of ready money like non-interest
earning deposits. Depending on his ‘liquidity preference’, an individual decides
how much of his resources or income should be held in the form of liquid money
and how much in the form of other assets. But what drives liquidity preference in
any individual given that bonds or assets yield returns whereas liquid money does
not? According to the Keynesian view, there are three reasons which create
demand for money or preference for liquidity. They are transaction demand for
money, precautionary demand for money and speculative demand for money.

9.4.1 Transaction Demand

It is unlikely that an individual receives money at the same instant he needs to
make a payment. Usually, one receives money at the end of the month but the
expenses are scattered over the month. Lack of such coordination between
receipts and expenditure gives rise to the transaction demand for money.



The transaction demand for money varies directly with income. A person with
low income will incur low expenses and thus have low transaction demand. On
the other hand, a person with high income has high transaction demand as she
spends more on transactions. Such a demand for money also depends on the
trade-off between holding cash balances and holding assets such as bonds which
are interest earning. Holding real money balances has an opportunity cost, that is,
the interest foregone. If the interest rates are high, the opportunity cost of holding
money is high. Hence, the transaction demand for money is low.

Thus, the transaction demand for money falls with rise in the rate of interest.
Since, money is held in the form of currency or chequable deposits for
transaction purposes, the transaction demand corresponds with the M1 measure
of money supply (see Unit 4). It also corresponds with the medium of exchange
function of money.

9.4.2 Precautionary Demand

People also hold money to guard against uncertainties. Future receipts and
payments are uncertain. Hence, money is held to act as a buffer stock to meet
unforeseen expenses that may arise in future. For example, families may hoard
cash to meet a medical emergency which may arise without warning.

The precautionary demand for money is relevant to M1 although it can explain
savings accounts which are part of M2.

9.4.3 Speculative Demand

The speculative demand for money relates to the function of money as a store of
value. In a portfolio of assets, an investor prefers to keep those assets which yield
high returns. But returns are subject to uncertainties and assets are risky. In such
a scenario, it is wise for the investor to have a diversified portfolio wherein some
money is also held to safeguard against capital losses as prices of some assets
behave in an uncertain manner. Even money is not a completely risk-free or safe
asset. The real value of money depends on the inflation rate which is uncertain.
But the values of equities are more uncertain than the inflation rates which
explains why money is a relatively safer asset. This attribute of money creates
speculative demand for money. Essentially, it is the risk-averse behavior of
individuals which generates speculative demand for money. Higher the riskiness
of the returns on other assets, higher is the speculative demand for money. And
higher the expected return on other assets, lower is the speculative demand for
money. In a flight towards safe assets, which assets are held? Is it the currency
and demand deposits? Or time deposits and saving deposits. Investors prefer time
and saving deposits as they have higher returns. These are part of M2 and M3.
Hence, the speculative demand for money corresponds with M2 and M3 measure
of money supply.

We learn from the above discussion that speculative demand for money is
inversely related to the current rate of interest. If the current rate of interest is
low, the speculative demand for money is high as the opportunity cost of holding
money is low.
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Specudative Demand for Money

Fig. 9.1: Liquidity Preference Curve

Fig. 9.1 shows the speculative demand for money as a declining function of the
interest rate. The ‘liquidity preference’ curve or LP curve is downward sloping
implying that demand for liquidity or speculative demand for money is low at
high rates of interest (and vice versa). However, if the rate of interest is very low
(at "), people are willing to hold whatever amount of money is supplied to them.
Such a region is called the Liquidity Trap region, which can be shown as the
E”LP in the Fig. 9.1. The LP curve is perfectly elastic at
r" indicating ‘absolute liquidity preference’ (see the horizontal portion of the LP
curve). In the liquidity trap region, monetary policy is completely ineffective as
any increase in money supply results in no change in interest rates or investment.

Check Your Progress 3

1. What is Keynesian theory of demand for money?



3. How do credit cards affect the demand for money?

9.5 DETERMINATION OF EQUILIBRIUM
INTEREST RATE

We found in the previous section that demand for money comes from transaction,
precautionary and speculative motives. The total demand for money is the sum of
money demand arising from all three motives. The transaction and precautionary
demand for money depends on the income level and not on the interest rate,
whereas the speculative demand for money depends on the interest rate. Hence,
money demand is an increasing function of income (or transactions), but
decreasing function of interest rate due to the speculative nature of demand. Let
demand for money be denoted by M, income by Y and rate of interest by r. Now
the money demand function is given by

M, =L(Y,7) ... (9.8)

The My curve is drawn for a given level of nominal income. It depicts the
tradeoff between the demand for money and the rate of interest.

The money supply M is determined by the central bank. At equilibrium, money
supply is equal to money demand. That is,

Mg =M, or
M, = L(Y,r) ...(9.9

The money market equilibrium is depicted in Fig. 9.2 below. The demand for
money is negatively sloped and the supply of money is fixed by the central bank.
Atr*, demand for money is equal to the supply of money. At this interest rate,
given a level of nominal income, people are willing to hold an amount of money
equal to the existing money supply. At interest rates below r*, demand for money
exceeds the money supply. Thus, interest rate has to rise so that demand for
money decreases in order to equate money supply The rise in the rate of interest
leads to increase in the demand for bonds and decrease in the money demand.
At interest rates above r*, the money supply exceeds the demand for money.
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Money in a Modern Thus, interest rate has to decline so that demand for money increases, and
Economy equilibrium between demand for and supply of money is achieved.

Any divergence from r* tends to autocorrect itself through the mechanism of
money supply and money demand.

Interest
Money
Rate Supply

r#*

Maoney
Demand

Quantity
of Money

Fig. 9.2: Money Market Equilibrium

We now examine how changes in nominal income or money supply affect the
money market equilibrium. For a given interest rate r;, increase in nominal
income shifts the money demand curve to the right, which is shown in Fig. 9.3
below. That means M; shifts to MD,. Atry interest rate with the new demand
curve MD, there is excess demand for money. This leads to increase in the
interest rate 1, establishing the new equilibrium at given money supply.

Money Supply

Interest Rate
I
]
I
I
]
I
[}
[
I

fa

MD,

Quantity of Money
Fig. 9.3: Effect of Increase in Nominal Income
The changes in monetary policy of an economy affect money supply. With given

money demand, an increase in money supply shifts the money supply curve to
the right from MS;to MS, as presented in Fig. 9.4.
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At the initial interest rate r; with the new money supply MS, there is excess
supply of money. This leads to fall in the interest rate to attain the new
equilibrium at 3 , where MS, and MD intersect each other.

r MS, MSo

rp ______:\_.

SR BN
P

Quantity of Money

Fig. 9.4: Effect of Increase in Money Supply

Check Your Progress 4

1. Explain how equilibrium is attained in the money market. How does an
increase in nominal income affect the money market equilibrium? How does
an increase in money supply affect the money market equilibrium?

2. Given that M; =Y (0.35—1)and Y = 60,000
a) Find the demand for money when the interest rate is 10 per cent.
b) If Y decreases by 50 per cent, what happens to money demand in
percentage terms?
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3. Given that My =Y (0.25 —1), My = 20 and Y = 100.
a) Find the equilibrium interest rate.
b) At what level should the money supply be set if the central bank wants to
increase interest rate by 10 per cent?

9.6 LET US SUM UP

In this unit we learnt the relationship between money supply and price level
through the two approaches of the Quantity Theory of Money, viz., Fisher’s
approach and Cambridge approach. The basic conclusion of these approaches is
the same: an increase in money supply results in proportionate increase in the
price level. Also, we learnt about the money demand. There are three motives for
people to hold money, viz., transaction motive, precautionary motive, and
speculative motive. Money demand function is a decreasing function of interest
rate and it is constructed for a given income level. Money supply is fixed by the
central bank. Intersection of money demand and money supply results in
equilibrium in the money market. An increase in nominal income increases the
interest rate, while an increase in money supply decreases the interest rate.

9.7 ANSWERS/HINTS TO CHECK YOUR PROGRESS
EXERCISES

Check Your Progress 1

1. The average money holding decreases, k decreases and V increases.
2. It shifts rightward.

Check Your Progress 2
1. Refer to Sections 9.2 and 9.3
2. Refer to Section 9.3

Check Your Progress 3
1. Refer to Section 9.4.
2. Use Fig. 9.1 for the explanation.

3. People using credit cards can make the payments (or clear all their bills) at the
end of the month rather than each time they undertake a transaction. Hence,
credit cards reduce the average money holdings, thereby reducing the
demand for money.



Check Your Progress 4 Demand for
) ) . ) Money
1. Refer to Section 9.5 and use Fig. 9.2, Fig. 9.3, and Fig. 9.4.
2. (a)15000
(b) Money demand also decreases by 50 per cent.
3. (a) we have My =Y (0.25 —1), Mg = 20 and Y = 100.
As per the equilibrium condition, 100 (0.25-1) = 20.
Thus, 1 = (25 —20)/100 = 5 per cent.

(b) For the equilibrium interest rate to be doubled from 5 % to 10%, money
supply should be reduced from 20 to 15.

100 (0.25 - 0.1) =20 + x. So x = (15 —20) = — 5.
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UNIT 10 MONETARY POLICY"

Structure

10.0 Objectives

10.1 Introduction

10.2 Objectives of Monetary Policy
10.3 Instruments of Monetary Policy

10.3.1 Quantitative Instruments

10.3.2  Qualitative Instruments

10.4 Monetary Policy in India
10.5 Quantitative Easing
10.6 Let Us Sum Up

10.7 Answers/Hints to Check Your Progress Exercises

10.0 OBJECTIVES

After going through this unit, you should be in a position to

e describe the role of a central bank;

e explain the types of monetary policy pursued by central banks;

¢ identify the objectives of monetary policy; and

e cxplain the various tools or instruments of conducting monetary policy.

10.1 INTRODUCTION

In Unit 5, we learnt how an increase in money supply leads to a decrease in the
rate of interest. Decrease in interest rate leads to increase in investment, which in
turn leads to increase in aggregate demand, and growth in the GDP of the
economy. A very low rate of interest however would discourage people from
keeping their savings in financial institutions such as banks. The concept of
‘liquidity trap’, as we discussed in Unit 5, may operate at a very low rate of
interest. On the other hand, a high rate of interest will increase the cost of
borrowing (thus cost of production), thereby reducing the demand for credit,
which in turn will reduce the level of investment and economic growth.

Further, looking from the supply side, adequate supply of money facilitates
smooth functioning of the economy while excessive money supply may lead to
inflation. Thus, from a monetary policy perspective, it is important to decide
upon the quantity of money to be supplied since it has repercussions on the rate
of interest which affects the goods market and aggregate demand.

* Ms. Priti Agarwal, Assistant Professor, College of Vocational Studies, University of Delhi.



It also has implications on price stability and inflation. In this Unit we will
discuss why and how the supply of money and demand for credit are managed in
an economy.

Demand for and supply of money are regulated by certain monetary authority,
usually the Central Bank of the country. The Central Bank of a country, as you
know by now, has several functions to perform. Traditional functions of a central
bank such as the ‘bankers’ bank’ (i.e., the apex bank of a country) and ‘lender of
last resort’ still applies. However, many more functions pertaining to stabilization
of the economy and overall development of the country have come up. In India,
the Reserve Bank of India (RBI) is the apex bank of the country to monitor and
regulate the supply of money and demand for credit. In doing so, the RBI like
other central banks takes into account factors such as economic growth, price
stability, easy access to credit, and smooth functioning of the economy. Monetary
policy is carried out by changing several policy instruments as we will learn later
in the Unit. According to the RBI, it has the following functions:

1) Formulation of monetary policy;

(1))  Regulation and supervision of the banking and non-banking financial
institutions;

(iii)  Regulation of money, foreign exchange and government securities
markets as also certain financial derivatives;

(iv)  Debt and cash management for Central and State Governments;
V) Management of foreign exchange reserves;

(vi)  Foreign exchange management — current and capital account
management;

(vil)  Banker to banks;

(viii) Banker to the Central and State Governments;

(ix)  Monitoring of the payment and settlement systems;
x) Currency management;

(xi)  Developmental role; and

(xii)  Undertaking research and collection of statistics.

Along with structural changes of the economy over time, monetary management
of the economy has become very important. The RBI designs and implements the
regulatory policy framework for banking and non-banking financial institutions
with the aim of providing people access to the banking system, protecting
depositors’ interest, and maintaining the overall health of the financial system.
Along with these, management of public debt, management of foreign exchange
rate and foreign exchange reserve, determination of interest rate, maintenance of
inflation rate, and facilitation of high economic growth have become quite
complex.
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10.2 OBJECTIVES OF MONETARY POLICY

Monetary policy is a mechanism through which the supply of and demand for
money in an economy are regulated. Such regulations on supply of and demand
for money are expected to fulfill the objectives of monetary policy. We will
discuss about the objectives or goals of monetary policy in this Unit.

You should note that there is a difference between objectives and targets of
monetary policy. Objectives of monetary policy indicate the direction in which
the policy variables should be aimed at, viz., reducing inflation, achieving full
employment, realizing higher economic growth. On the other hand, targets of
monetary policy are the variables targeted such as money supply, bank credit,
and short term interest rates through the instruments of monetary policy.

A central bank could have a single objective or multiple objectives to follow. The
primary objective of most central banks today is price stability. Price stability
does not mean that there should not be any price rise in an economy. Rather the
objective is to have moderate inflation. Very often, many countries, have come
up with monetary policy that targets inflation rate. Such inflation targeting is
followed in India also (we will discuss about inflation in detail in the next two
units). Inflation targeting was introduced for the first time in 1990 in New
Zealand.

Subsequently many countries such as Canada, United Kingdom, Sweden,
Australia, Chile, Poland, etc. adopted inflation targeting as the objective of
monetary policy during the 1990s. India formally changed the RBI Act and
adopted inflation targeting in 2016. Accordingly, the target variable for monetary
policy in India is an inflation rate of 4 per cent. The RBI formulates monetary
policy in such a manner that inflation rate remains in the range of 2 per cent to 4
per cent per annum.

Prior to 2016, since 1998, India pursued multiple indicators as objectives of
monetary policy. Under this approach the RBI considered a number of target
variables such as money, credit, output, trade, capital flows, fiscal deficit,
inflation rate and exchange rate. We elaborate on some of the major goals of
monetary policy in an economy, so that you get an idea of their importance.

1. Higher Economic Growth

An important objective of the monetary policy is to realize high economic
growth. Economic growth leads to higher per capita income and higher standard
of living for people. As pointed out earlier, higher investment is crucial for
accelerating economic growth. An expansionary monetary policy decreases the
rate of interest and increases investment and output, thus increasing the rate of
growth of the economy.

2. Full Employment Level
Another important objective of an economy is provision of employment to
people. We observe that unemployment of resources, including human resources,



exists in an economy. Further, during recessionary periods, the level of
unemployment increases. Thus there is a need to formulate policies that generates
employment and takes the country towards full employment. At full employment
level of output or potential output, all the factors of production (including labor)
are fully employed. However, this does not imply that there is no unemployment.
Essentially, full employment is associated with a positive rate of unemployment
due to people switching jobs. Such an output is also called full-capacity output.
Monetary policy can help in realization of full-capacity output by influencing
aggregate demand.

3. Price Stability

Price stability, as mentioned earlier, does not mean that prices should remain
constant; it means that the price increase should be moderate. The objective of
price stability may be in conflict with other objectives such as economic growth
and full employment. Any increase in aggregate demand via an expansionary
monetary policy is typically inflationary. If there is shortfall in aggregate
demand, there could be a tendency towards deflation in the economy. Monetary
policy should aim to avoid both inflationary and deflationary situations.

4. Exchange Rate Stability

Monetary policy could affect the balance of payments of an economy via the
interest rate channel. Interest rate plays an important role in foreign investment in
the economy. If there is a decline in the rate of interest, it may result in capital
outflows. Consequently, the demand for foreign currency increases and this
results in the depreciation of domestic currency. Depreciation of currency may
have several consequences — value of domestic currency declines in terms of
foreign currency; foreign goods become more expensive; and import of essential
commodities such as raw materials and inputs may decline which results in
decrease in GDP. As domestic goods and services become cheaper in terms of
foreign currency (due to depreciation), exports of the country may increase which
improves the balance of payments position. The final outcome however depends
on several factors such as elasticity of imports and exports, and global economic
environment (recession, wars, global price levels, etc.).

Check Your Progress 1

1. What are the various objectives of monetary policy?
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2. Explain the importance of monetary policy in view of the conflicting
objectives of an economy.

10.3 INSTRUMENTS OF MONETARY POLICY

The instruments of monetary policy to control credit are divided into two
categories, viz., Quantitative and Qualitative. Quantitative measures are non-
discriminatory in nature, say for example, when a certain interest rate is set by
the central bank of a country, that rate applies to the banking system of the
country as a whole. In contrast, Qualitative / Selective measures vary from one
section of society to the other.

10.3.1 Quantitative Instruments

The important quantitative credit control instruments of the monetary policy are
as follows:

e Repo Rate

e Bank Rate

e Open Market Operations

e Change in Minimum Reserve Ratio

e Change in Liquidity Ratio

a) Repo Rate

The most noticed and significant instrument of monetary policy is the repo rate.
It is the rate at which commercial banks borrow money from the RBI on
submission of collateral such as securities. Similarly, commercial banks can
deposit their excess reserves in the central bank for which the ‘reverse repo rate’
is applicable. The repo rate is periodically decided by the RBI. Other rates, such
as reverse repo rate, bank rate, and marginal standing facility (MSF) rate get

automatically adjusted as a fixed percentage above repo rate.

The RBI uses repo rate to manage inflation, economic growth and balance of
payments. When inflation rate is high, the RBI can increase repo rate so that
interest rates increase, leading to decline in aggregate demand. On the other hand,

the RBI can decrease repo rate when economic growth is sluggish.



The banks are allowed to borrow from RBI at repo rate under the Liquidity
Adjustment Facility (LAF). Deposit of excess liquidity with RBI is also made
under the LAF. This arrangement helps the bank to manage liquidity pressure and
resolve short term cash shortages. In addition to the LAF, the RBI has ‘Marginal
Standing Facility’ (MSF), which facilitates provision of overnight loans to
commercial banks. The objective is to meet unanticipated shocks such as large
scale withdrawal of cash by customers. The MSF thus receives a penal interest
rate above the repo rate.

b) Bank Rate
Bank rate is the rate of interest at which the central bank provides loans to
commercial banks and other financial institutions.

Increase in bank rate has the effect of increasing the rate of interest in the
economy. Similarly, decrease in bank rate lowers the rate of interest in the
economy. Higher bank rate lowers the extent of credit creation in the economy
which leads to a decline in aggregate demand and hence lower prices. On the
other hand, in a recessionary phase a lower bank rate is proposed.

It is difficult to predict the impact on change in bank rate on bank borrowings.
This is because bank rate itself is not the key lending rate, though is does form
the basis for the multiplicity of RBI’s lending rates charged for different types of
advances. The impact of change in bank rate on bank’s borrowings depends on
various factors such as (a) the degree of bank’s dependence on borrowed
reserves, (b) the sensitivity of the banks’ demand for borrowed reserves to the
differential between their lending rates and borrowing rates (c) the extent to
which other rates of interest have already changed or change subsequently (d) the
state of the demand for loans and the supply of funds from other sources, etc.
Banks are not discouraged from borrowing in the face of higher bank rates if the
market interest rates are high such that banks expect higher returns from
borrowed funds.

There is a subtle difference between repo rate and bank rate. Financial
institutions can borrow from the RBI at the bank rate without submission of any
collateral. On the other hand repo rate is charged for re-purchase of securities
issued by the RBI. Further, bank rate is higher than repo rate.

¢) Open Market Operations

The central bank exercises control over the money supply through sale and
purchase of government securities. The term ‘open market operations’ (OMO)
refers to the sale/purchase of government securities by the central bank to/from
the public and banks. While purchase of government securities in open market
increases the high powered money (H), an open market sale of government

securities decreases H by an equal amount.
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Following the change in ‘H’, the usual money multiplier (mm) (see Section 4.5,
Unit 4) process leads to change in money supply (M). In order to follow a
contractionary monetary policy to check inflation, the central bank decreases
money supply by selling securities. In a situation of falling prices, the central
bank buys securities for increasing the money supply in the economy. Such an
expansionary monetary policy helps in boosting aggregate demand and reviving
the economy from recession.

Open market operations are flexible and reversible in time. Hence, it is
considered to be an efficient instrument of monetary control. Moreover, unlike
bank rate and reserve requirements, it is free from ‘announcement effects’ as no
prior public announcement has to be made to conduct these operations. The direct
effect on H is immediate and the amount of H created or destroyed is precisely
determinable. There are indirect effects also such as interest rate changes.

Purchase and sale of securities in the open market by the central bank or the
monetary authority is popularly known as open market operations. In order to
contract the credit in the economy, the central bank sells securities in the open
market. This leads to fall in aggregate demand and reduction in price level.
Whereas, when credit is to be expanded, there is purchase of securities by the
central bank in the open market. This leads to increase in aggregate demand and
production levels in the economy.

d) Cash Reserve Ratio

A certain fraction of total assets is always kept by banks as cash partially to
comply with the statutory reserve requirements and partially for meeting day-to-
day cash payments. Cash is held as ‘cash on hand’ and as cash balances with the
central bank. These are known as cash reserves of banks which are classified as
‘required reserves’ and ‘excess reserves’.

Banks are statutorily required to hold cash balances with the central bank. In
India, the RBI has the power to impose statutorily ‘cash reserve ratio’ (CRR) on
banks anywhere between 3-15 per cent of the net demand and time liabilities. A
higher CRR implies lower liquidity in the system. Thus when the central bank
plans to increase liquidity in the economy, it decreases the CRR and vice versa.

Cash Reserve Ratio varies across countries. For example, in 2019, it is as high as
45 per cent in Brazil and as low as 1 per cent in the European Union. In India, as
on April 2019, the CRR was 4 per cent. Further, CRR varies over time for the
same country, depending upon the economic environment.

Banks also hold excess reserves, apart from required reserves. These are held in
excess of required reserves. These excess reserves are used to meet the currency
drains, i.e., the net withdrawal of currency by depositors, and clearing drains
which is the net loss of cash due to cross clearing of cheques among banks. Large



part of excess reserves is held as cash on hand, remaining small part is held as
excess balances with the RBI.

By varying the reserve requirements, the RBI uses the CRR as a tool of
controlling money supply. When CRR is raised, banks hold larger cash balances
with the RBI. Since reserves are a part of ‘H’ or high powered money, this
essentially means that a part of H is withdrawn from the public equaling the
amount of additional reserves impounded. On the other hand, lowering of CRR
amounts to a virtual increase in H, which results in an increase in money supply
‘M’. In this manner, the CRR serves as an instrument of monetary control. In
case of inflation, CRR is increased, thus decreasing the lending ability of banks.
Alternately, by lowering the CRR, credit expansion by banks increases.

e) Statutory Liquidity Ratio

Besides CRR, banks are also required to meet the statutory liquidity ratio (SLR)
requirements. The RBI Act stipulates that banks are required to hold a certain
fraction of their demand and time liabilities in the form of “liquid assets in their
own vault”.

This is called the “Statutory Liquidity Ratio”. Liquid assets include cash, gold
and approved securities, mainly the government securities. Banks prefer
government securities as they earn interest income. The central bank uses SLR to
check the money supply in the economy. Increasing SLR decreases liquidity in
the economy and vice-versa. As on July2019, the SLR rate in India is 18.75 per
cent. However, CRR is more actively used by the RBI to manage liquidity in the
economy.

10.3.2 Qualitative Instruments

Qualitative instruments may not lead to changes in volume of money in the
economy. These policy instruments are used for discriminating between different
uses of credit. Thus these instruments are used for regulating credit for specific
purposes. Some of the instruments are as follows:

a) Selective Credit Control

Selective Credit Control relates to qualitative method of credit control by the
central banks. The central bank can take steps to channelize credit to priority
sectors. Similarly, it can impose restrictive measures on credit to certain sectors.

In India, such controls have been used to check speculative hoarding of essential
commodities such as food grains to check their price rise. When credit flow for
purchasing and holding such stocks is restricted, traders increase the market
supply of these commodities and their prices do not increase as much. Hence,
selective credit controls help in moderation of inflation. You will find several
examples of selective credit control in the Indian case. Credit extended to
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agricultural sector and small scale industries are instances of selective credit
control.

b) Margin Requirements

The margin refers to that part of the loan amount which the bank does not
finance. For example, if you approach a bank for financing a loan towards
purchase of a house, the bank will not provide loan for the full amount — it may
provide loan for about 80 to 85 per cent of the purchase value. An implication of
the above is that 15 to 20 per cent of the purchase value should be financed from
own funds.

A higher margin on loan discourages borrowing. By changing the margin
requirements, the central bank can encourage credit flow to certain sectors while
restricting it to others. For instance, in order to encourage priority lending to
certain sectors, the government may reduce margin requirements.

¢) Credit Rationing

In order to restrict credit to certain sectors, the central bank may ration credit by
putting certain limit on the amount the bank can lend to particular sector or
section of society. Through rationing of credit, the central bank can perform the
following tasks:

e [t can decline loan to a particular commercial bank

e [t can ask commercial banks to extend certain percentage of credit to
priority areas such as agriculture or small scale enterprises.

d) Moral Suasion

Central bank persuades other banks to comply with its policy stance through
discussions, letters and speeches. This is known as moral suasion. Moral suasion
can be employed for both qualitative and quantitative credit control. RBI can
urge banks to keep a large fraction of their assets in the form of government
securities. It can also discourage banks from borrowing excessively during
inflationary periods. These measures help control money supply. Moral suasion
is also used for controlling the distribution of bank credit.

e) Direct Action

Sometimes, the RBI can directly take action against a bank which is not
following its directives and conforming to the broad monetary policy goals. For
example, the RBI may refuse rediscount facilities to such banks or it may charge
a penal rate over and above the bank rate.

Central banks use a mix of different tools for monetary control. Bank rate,
reserve requirements, open market operations and selective credit controls
measures should be adopted simultaneously.



Check Your Progress 2

1. Distinguish between bank rate and repo rate.

104 MONETARY POLICY IN INDIA

The policy targets and instruments of the RBI have changed over the years in line
with domestic requirements and global structural changes. In the beginning years,
the Indian economy was in the early stage of development. Thus, there was a
strong need for building infrastructure and enhancing production capacity.
During this phase fiscal policy (use of government revenue and expenditure) was
found to be more important than monetary policy.

In an effort to incur more public expenditure, the government usually ran into
very high levels of fiscal deficit. These deficits were financed by ad hoc treasury
bills or borrowings from public sector banks. Such a method of financing the
deficits was very often inflationary; more so during the 1980s. In order to curb
this tendency, the monetary policy framework changed in 1986 to target the
growth in money supply, particularly M3. After the economic reforms of 1991,
the RBI’s role underwent a significant change. Steps were taken to curb the
monetization of fiscal deficit. Say for example, by 1997 the ad-hoc treasury bills
were completely phased out.
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However, monetization of fiscal deficit continued through primary issue of public
debt in auctions. In order to stop these methods of deficit financing, in 2006, the
RBI was not allowed to subscribe to the primary issue of public debt. Since 2016,
as mentioned earlier, the sole objective of monetary policy in India is inflation
targeting, at 4 per cent per annum, with a tolerance band of 2 per cent.

In April 1999, on the recommendations of the Narasimham Committee (second
committee), Interim Liquidity Adjustment Facility (ILAF) was introduced. Repo
and reverse repo rates emerged as the primary policy rates of the RBI and the
significance of CRR and SLR as instruments of RBI to manage liquidity got
reduced. However, the ILAF suffered from non-existence of a ceiling rate and no
unique policy rate. Hence, since May 2011 the repo rate has become the only
independently varying rate under the Revised Liquidity Adjustment Framework
(RLAF).

In 2016, inflation targeting became the sole objective of monetary policy in
India. The Monetary Policy Framework Agreement (MPFA) was signed between
the Government of India (GOI) and the RBI to regulate inflation and bring it
below 4 percent in financial year 2016-17.

In case of failure on the part of the RBI to comply with the above targets, it is
accountable to the government, and suggest reasons and remedies to achieve the
same in future by a specified date.

10.5 QUANTITATIVE EASING

As you have learnt from Unit 5, when the rate of interest is very close to zero, the
economy enters the liquidity trap region. There could be situations where the
interest rate is low, and the economy is passing through a recession. In such a
situation, there is little scope for further reduction in interest rate; else the
economy would go on to a liquidity trap state. Here, monetary policy is
ineffective and the central bank measures to increase money supply fails. People
are willing to hold whatever amount of money is supplied to them, which leads to
low level of saving in the economy. As a result of low level saving, the level of
investment is low. As you will see in Unit 9, due to low level of investment, there
is a decline in aggregate demand.

In order to circumvent the problem of low interest rate and consequent liquidity
trap syndrome, many central banks resort to a different strategy to boost
economic activity. Here, aggregate demand stops responding to very low interest
rates and consequently, a different policy is sought. Money is directly pumped
into the financial system through a process known as ‘quantitative easing’, which
is also known as asset purchase scheme. Instead of printing money, the central
bank creates electronic money, which is used to purchase bonds and securities
from financial institutions such as banks. When the banks get more liquidity than
what they require as reserves, they make a profit by lending out the excess
reserves.



With quantitative easing, there is an increase in the demand for bonds and
securities. The market price of these bonds increases, which is likely to activate
the bond market and stock markets. With the increase in stock prices, there is a
perception among people that their income and wealth has increased. This is like
to boost aggregate demand through increase in consumption expenditure. Further,
increase in bond prices means a decline in their yields. Lower yields decrease the
cost of borrowing for business which in turn leads to increase in spending and
expands economic activity. This is likely to accelerate investment in the
economy. Banks and financial institutions have more usable funds (due to
injection of funds by the central bank) resulting in increased lending and boosting
business investment and economic activity. When the economy recovers, the
central bank sells these assets and sterilizes the cash it receives from the sales. So
there is no additional money remaining in the system.

The goal of quantitative easing is to inject liquidity into the banking system, so
that banks can lend money to boost economic activity. Quantitative easing aims
to increase aggregate demand while keeping inflation within target bounds.
However, there is a danger of increased inflation through this process.

Amidst the 2008 financial crisis, policy makers were looking for ways for
stabilizing the world economy. One response which emerged in the UK and the
US was ‘quantitative easing’.

Both US Federal Reserve and the Bank of England adopted ‘quantitative easing’
in the aftermath of this crisis. Japan’s central bank first tried ‘quantitative easing’
to control deflation in the Japanese economy in the 1990s.

Check Your Progress 3

1. Bring out the major changes in monetary policy framework in India.
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3. What is the primary objective of monetary policy in India?

10.6 LET US SUM UP

Monetary policy pertains to management of the supply of money and demand for
credits. The objective of such controls is to achieve certain goals set for the
economy. The objectives of monetary policy are attained through certain policy
instruments. The policy instruments could be quantitative or qualitative in nature.
The quantitative tools are repo rate, bank rate, open market operations, reserve
requirements, etc. The qualitative tools are selective credit controls, moral
suasion, etc. In a liquidity trap like situation, however, the usual instruments do
not work. Hence, central banks can adopt quantitative easing which injects
liquidity in the banking system and lowers the lending rates of banks.

10.7 ANSWERS/HINTS TO CHECK YOUR
PROGRESS EXERCISES

Check Your Progress 1

1. The various objectives of monetary policy could be price stability, higher
economic growth, full employment and stable exchange rate. See Section
10.2  for details.

2. Refer to Sections 10.2 and answer. You should point out how various
objectives conflict with one another. You may consider the impact of
decrease in interest rate on various objectives — in what directions it
influences economic growth, unemployment, price stability and balance of
payments.

Check Your Progress 2

1. Repo rate is the rate of interest charged by the central bank on commercial
bank for short term borrowings against submission of collateral. Bank rate is
the rate of interest charged by the central bank on commercial bank
borrowings. Bank rate is higher than repo rate.

2. Short term borrowings (in case of shortage of liquidity) and deposits (in case
of excess reserves) by commercial banks with the RBI are arranged through
the Liquidity Adjustment Facility (LAF).



3. Quantitative measures affect money supply; qualitative measures do not. Monetary Policy
Quantitative measures are universal; qualitative measures are sector specific.
Refer to Section 10.3 for details.

Check Your Progress 3
1. Referto Section 10.4 and answer.
2. Refer to Section 10.5 and answer.

3. Inflation targeting.
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GLOSSARY

Aggregate Supply
Curve

Automatic
Stabilizers

Autonomous
Investment

Autonomous
Spending

Average Propensity
to Consume

Balance of Trade

Balanced Budget
Multiplier

Bank Rate

Bond

Broad Money

Budget Deficit

Budget Surplus

Business Cycle

According to classical economists, the aggregate
supply curve is vertical, implying that total output is
always at the full employment level. In the short run,
according to Keynes, the aggregate supply curve will
be horizontal if the economy has under-utilised
resources.

Revenue and expenditure items in the budget that
automatically change with the state of the economy and
tend to stabilize GDP.

Investment spending which is not dependent on income
or interest rate.

A part of AD that is independent of the income and
output level.

The ratio of consumption expenditure (C) to income
(Y).
It refers to exports and imports of visible items.

Equilibrium income rises by the same amount by
which the government spending rises. It is assumed
that the change in government spending is equal to the
change in taxes. Taxes are taken as autonomous taxes.

Rate at which the central bank lends funds to the
commercial banks.

In economics, it is an instrument of indebtedness. It is a
promise to pay its holder certain agreed upon amount
of money at specified dates in the future.

M3 is known as ‘broad money’ since it includes time
deposits as well.

When government receipts fall short of government
expenditure, we encounter the problem of budget
deficit.

Excess of government revenue over government
spending.

Periodical ups and downs in economic activity in an
economy. There are four phases of a business cycle,
viz., expansion, recession, depression, and recovery.
During expansion phase the economy grows while
during recession there is a deceleration in growth rate.
Depression is much severe and the economy may
witness negative economic growth.



Balance of
Payments

Capital Goods

Cash Reserve Ratio
(CRR)

Change in

Inventories

Circular Flow

Classical
Economists

Classical Model

Classical Model

Cold Turkey

Compensation of
Employees

Consumer Price
Index

Core Inflation

Cost-push inflation

During recovery, as the name suggests, the economy
recovers from depression.

It is a systematic record of all its transactions
(involving goods, services, physical and financial
assets, as well as transfer payments) of a country with
the rest of the countries in the world during a given
period (typically one year)

These are goods which help in further production of
goods. Example could be machineries.

It is the percentage of bank deposits that the banks are
required keep with the central bank. In India, in 2019
the CRR is 4 percent. Thus, if Rs. 100 is deposited in a
bank, the bank needs to keep Rs. 4 with the RBI. The
RBI can vary the CRR between 3 per cent and 15 per
cent.

Inventories are stocks of finished goods/ semi-finished
goods/ intermediate goods. Change in inventories is
total inventories at the end of the year minus total
inventories at the beginning of the year for an economy.

It is a flow of goods or services or money from one
(set of) transactor to another (set).

Economists who subscribe to classical point of view.
Eminent classical economists include Adam Smith,
David Ricardo, J B Say, and A C Pigou.

A model of the economy derived from ideas of the pre-
Keynesian economists. It is based on the assumption
that prices and wages adjust instantaneously to clear
markets and that monetary policy does not influence
real variables such as output and employment.

It is a model based on the assumption that prices and
wages adjust quickly to clear the markets.

It is the policy prescription of bring down inflation rate
rapidly.

Remuneration given by enterprises to employees for
rendering labour services.

Consumer Price Index represents the rate of increase in
the consumer prices of a basket of goods and services.

Core inflation is a measure of inflation that excludes
items that face volatile price movement, notably food
and energy.

Cost-push inflation is a sustained rise in the general
price level due to a rise in the cost of production in the
economy.
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Cost-push inflation

Crowding Out

Capital Account

Current Account

Consumption of
Fixed Capital

Deflation

Demand-pull
inflation

Departmental
Enterprises

Depreciation

Direct Personal
Taxes

Disposable income

Double Counting

Economic Agents

Economic
Transactions

Enterprises

Cost-push inflation is a sustained rise in the general
price level due to a rise in the cost of production in the
economy.

It reflects a situation when increase in public
investment is possible at the cost of private investment.

The capital account of the BOP includes transactions
involving cross-border purchase and sale of physical
and financial assets.

The current account of BOP records receipts from and
payments to foreigners due to international trade in
goods and services (including factor services).

The capital goods wear out or fall in value as a result
of its consumption or use in the production process.

Deflation is a sustained decrease in the general price
level.

Demand-pull inflation is a sustained rise in the general
price level due to an increase in aggregate demand.

Part of the government sector. It consists of those
enterprises, which run as a part of government
departments producing goods and services. Examples
could be railways, Post and T elegraph, etc.

It is the loss in the value of capital asset because of
normal wear and tear and expected obsolescence.

These are the taxes imposed on households in the
form of income tax or wealth tax. Those on whom they
are imposed pay them.

Amount of income received by the households after
taxes Yq=Y-T

It refers to the problem of counting the same good more
than once. In order to avoid the problem, we consider
the final goods and services only.

These are groups of transactors, which indulge in
economic activities like production/ income generation/
addition to capital stock. Economic agents can be
classified into producers, households, capital sector,
rest of the world, and government.

These are the transactions consisting of production,
income generation and addition to capital stock.

These are economic agents, which employ factors of
production to generate a flow of goods and services
in the economy.



External
Commercial
Borrowings (ECB)

Factor Cost

Factor Services

Final Consumption
Expenditure

Financial Sector

Fiscal Policy

Fractional Reserve
Banking System

Foreign Exchange
Intervention

Foreign Exchange
Reserves

Goods Market
Equilibrium

Government Final
Consumption
Expenditure

Government
Sector

Great Depression

ECB are loans which are raised by a country’s
corporate sector from external financial organizations
on commercial terms.

It is the total cost incurred to employ factors of
production to give rise to a flow of goods and services
in an economy. It is equal to value of market price
minus Net Indirect Taxes.

These are the services rendered by factors of
production such as land, labour, capital and
enterprise.

This is an expenditure incurred by households,
enterprises and rest of the world to purchase final
consumer goods, capital goods and net exports
respectively.

This sector of the economy mops up savings of
various sectors and uses it for lending to other sectors
of the economy.

Government’s taxes and spending behaviour.

Under this system, banks are required to hold a certain
fraction of their demand and time liabilities in the form
of cash balances with the central bank.

It is the buying and selling of foreign currency by the
central bank in order to influence the exchange rate

These are the foreign exchange assets (e.g., foreign
currency) held by the central bank.

When AD and AS interact with each other. All points
on the IS curve reflects equilibrium in the goods
market.

It is the expenditure incurred by government on the
purchase of intermediate goods plus compensation of
government employees. This expenditure is incurred to
meet the collective consumption of the economy.

It is the sector, which produces goods and services
that are not sold at a price. Such goods are meant to
meet collective consumption requirements of an
economy. The expenses of these goods are met by
tax and non-tax revenue of the government.

The time duration when the over production and
unemployment made it impossible for the world
economies to operate at equilibrium. It started in 1929
and went on for a good 7-8 years.
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Gross Domestic
Product (GDP)

Gross National
Product (GNP)

High-powered
Money

Hot Money

Household Sector

Hyper-Inflation

Hyper-inflation

Income from
Domestic Product
accruing to
Private Sector

Income-Leisure
Trade-Off

Inflation

Inflation Targeting

It is the sum of final goods and services produced in a
country during a period of time, usually a year. We do
not include intermediate goods and income acquired
through illegal activities in the GDP. In most countries,
including India, estimated value of GDP is available on
a quarterly basis as well as on a yearly basis.

It is the value of goods and services produced in an
economy over a year, without duplication but gross of
depreciation. It is the goods and services produced by
the normal residents of an economy.

MO is known as monetary base or central bank money
or high-powered money.

Money which quickly moves from one nation to
another in search of speculative gains.

It is the sector that supplies factor services to firms
or enterprises. The factor incomes received by
households are used to meet their final consumption
requirements and the balance is used for savings,
which are passed on to the capital sector.

Inflation is a persistent increase in general price level.
When the rate of inflation is very high, it is said to be
hyper-inflation. Many countries have seen episodes of
hyper-inflation. In recent years, for example,
Zimbabwe has witnessed inflation rate to the extent of
175 per cent per year.

Hyper-inflation is a very rapid growth in the rate of
inflation in which money loses its value to a point
where alternative mediums of exchange.

It is the factor income enjoyed by households and
private sector over a year in an economy.

Change in income leading to a change in leisure/
labour due to change in the wage rate.

Inflation is a persistent increase in the general level of
prices.

The objective of the monetary policy in many
countries is inflation targeting, where the central bank
targets to achieve certain inflation rate. For example, in
India, the Reserve Bank of India targets an inflation
rate of 4 per cent with a tolerance band of 2 per cent.



Inflation Tax

Intermediate
Consumption

Inventories

Inventory

Investment

Investment
Multiplier

Invisible Hand

Involuntary
Unemployment

IS Curve

Intermediate
Goods

Keynesian Model

Liquidity
Preference Region

Financing government expenditure by printing money
increases prices for everyone, reducing their spending
power just as a tax to finance the spending would. This
is called an inflation tax.

It is the purchase of raw materials and services by a
firm from other firms to produce goods or services.

The stock of goods maintained by producers to tide
over unexpected fluctuation in demand.

Demand varies periodically but production is fixed.
Thus a firm maintains certain stock of goods to meet
uncertainties in demand, supply and movement of
goods. If demand exceeds current production there is
decline in the stock. Similarly, if demand falls short of
production there is accumulation of inventory.

It is the creation of capital goods in an economy over a
year. It can be for replacement of worn out capital or
for addition to total capital stock of an economy.

It is the multiple by which income or output of an
economy increase when investment increases by

certain amount. It is given by the formula a = i

where ¢ stands for marginal propensity to consume.
The term coined by Adam Smith, meant that

government should not intervene in the running of an
economy too often and too strongly.

In indicates a situation where unemployment is not
voluntary; a person is looking for a job but cannot find
one.

Investment-Saving curve showing the inverse
relationship between interest rate and income.

It refers to all the goods that are used as raw material
for further production of other goods.

A model based on the ideas contained in Keynes’
General Theory. It assumes that demand creates its
own supply so long as unemployment exists, and that
prices and wages do not adjust instantaneously to clear
markets.

People are willing to hold whatever amount of money
is supplied to them such that the monetary policy
becomes completely ineffective.
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Liquidity Trap

LM Curve

Marginal Product
of Labour

Marginal
Propensity to
consume (mpc)

Marginal
Propensity to Save

Market Price

Mixed Income of
Self-employed

Money

Money Flows

Money Multiplier

Money
Transactions

Multiplier

Narrow Money

National Income

National Wealth

Net Current
Transfers from the
Rest of the World

Net Domestic

At a very low rate of interest (nearly zero), people wish
to hold any amount of money and not interested in the
interest-bearing assets.

Locus of the points which show the money market
equilibrium at various combinations of income and rate
of interest.

Change in the output due to an additional unit of
labour employed.

The increase in consumption due to one-rupee increase

AY
in income. It is arrived at by calculating AC

Increase in saving due to one-rupee increase in the
income. It is usually denoted by ‘s’ or mps.

It is the price at which a commodity or service is
actually purchased by a households or a firm.

It is the factor income generated by unincorporated
enterprises where it is not possible to distinguish
between compensation of employees and operating
surplus.

It is the stock of assets which is used for transaction
purposes.

These are the flows, which are normally a consequence
of real flows between various sectors of an economy.

The money multiplier is the ratio of the stock of money
to the stock of high powered money.

These are the transactions between one transactor and
another or between one group of transactors and
another in terms of money to money without being
backed by real transactions.

The amount by which the equilibrium output changes
when autonomous spending increases by one unit.

M1 is also known as ‘narrow money’.

It is the same aggregate as net national product at
factor cost (NNPgc).

Total wealth of the residents of a country.

It is the difference between unrequited transfers from
the rest of the world, over a year, and such transfers
from the economy to the rest of the world.

It is that part of total production of capital goods and



Capital Formation

Net Domestic
Product (NDP)

Net Exports (NX)

Net Factor Income
from Abroad

Net Indirect Taxes

Net National
Disposable Income
(NNDP)

Non-departmental
Enterprises

Normal Residents

Net Factor Income
from Abroad

Normal Resident of
a Country

Net Exports

Open Economy

Open Market
Operations

inventories which are meant to add to total capital
stock of an economy over a year in an economy.

It is the value of goods and services produced in an
economy, over a year, without duplication, net of
depreciation. This concept is related to the concept of
domestic territory.

It is the difference between total value of exports and
imports over a year.

It is the difference between factor incomes earned by
the normal residents of an economy stationed abroad
temporarily and the factor incomes earned by normal
residents of the rest of the world stationed in the
economy temporarily.

It is the difference between indirect taxes and
subsidies.

It is the total income at the disposal of a country
by way of factor income as well as transfer
incomes from the rest of the world. It is identical to
NNP at market price plus net current transfers from
abroad.

These are the government enterprises for which
autonomous corporations are set up. The goods or
services produced by these enterprises are sold for a
price. They are the profit making enterprises set up in
the public sector.

They are the households or institutions, which have
their centre of interest in the economy but some of
them may temporarily be stationed aboard.

It is the difference between income earned from abroad
for rendering factor services by the normal residents of
the country to the rest of world and the income paid for
the factor services rendered by non-residents in the
domestic territory of a country.

A person who is ordinarily resides in a country and
whose centre of economic interest lies in that country.

It is obtained by subtracting imports from exports.

It is an economy, which has economic transactions
with the rest of the world.

Sale/ purchase of government securities by the central
bank to/ from the public and the banks.
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Operating Surplus

Per Capita GDP

Personal
Disposable Income

Personal Income

Phillips Curve

Price Level

Private Final
Consumption
Expenditure

Private Income

Production
Function

Quantity Theory of
Money

quid pro quo

Rate of Gross
Domestic Capital
Formation

Rate of Gross
Domestic Saving

It is the factor income generated by ownership and
management of property. It consists of rent, interest,
and profits.

The ratio of Gross domestic Product (GDP) to total
population of a country.

It is the factor income and transfer incomes left at the
disposal of the households after paying direct personal
taxes and miscellaneous receipts of government
administrative departments from personal income.

It is the factor income and transfer incomes enjoyed
by the households of an economy over a year.

It shows the relationship between inflation and
unemployment. Phillips curve is downward sloping in
the short-run, implying a trade-off between the two. In
the long-run the Phillips Curve is vertical, implying
that unemployment rate cannot be brought down below
natural rate of unemployment.

It is the average of prices of all the goods and services
produced in a country.

It is the expenditure incurred by the households of an
economy, over a year, on the purchase of goods and
services meant for final consumption.

It is the factor income and transfer incomes enjoyed
by households and private sector of an economy over a
year.

It is the relationship between factors of production
(inputs) and the available technology with the quantity
of output produced.

The quantity theory of money states that there is a
direct relationship between the quantity of money in an
economy and the level of prices of goods and services
sold.

It is a Latin phrase which means an exchange
relationship between persons/ economic agents. When
you get something from a transactor in return for
(in exchange of) something, it is called quid-pro-quo.
It is defined as gross domestic capital formation
divided by GDPy;p multiplied by 100.

It is equal to gross domestic savings divided by
GDP at MP multiplied by 100.



Rate of Net Domestic
Capital Formation

Rate of Net
Domestic Saving

Rate of Net Foreign
Capital Inflow

Real Flows

Real Money
Balances

Real Transactions

Recession

Replacement
Investment

Repo Rate

Residential
Investment

Rest of the World
Sector

Reverse Repo Rate

Sacrifice Ratio

Simultaneous
Equilibrium

Slope of
Investment
Function

It is net domestic capital formation divided by NDP at
market price (MP) multiplied by 100.

It is equal to net domestic savings divided by NDP at
MP multiplied by 100.

It is the difference between rate of gross domestic
capital formation and rate of gross domestic savings.

These are the flows of goods or services from one
set of economic agents to another..

Quantity of nominal money divided by the price level.

Those transactions, which are related to exchange of
goods and services between two transactors (economic
agents) or two groups of transactors.

In business cycle, recession indicates the phase when
there is an economic slowdown; economic growth is in
a decelerating phase.

It is that part of currently produced capital goods,
which are meant to replace the capital stock arising
out of normal wear and tear, and expected
obsolescence.

Rate at which the central bank lends funds to the
commercial banks against submission of collateral
such as securities by the banks.

Investment incurred on construction of new houses and
buildings is called as residential investment.

This sector deals with economic transactions of an
economy with the rest of the world.

Rate at which the commercial banks can deposit their
excess liquidity with the central bank, by purchasing
securities.

It refers to the percentage loss of output for bringing
down inflation by one per cent.
Equilibrium in the goods market as well as in the
money market at the same time.

It indicates the sensitivity of investment to changes in
the interest rate.
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Stagflation

Statutory Liquidity
Ratio (SLR)

Structural theory
of Inflation

Transfer Payments

Transfer Payments

Stagflation refers to economic condition where
economic growth is very slow or stagnant and prices
are rising.

Banks are required to hold a certain percentage of their
demand and time deposits in the form of government
securities. Currently (in 2019) the SLR is 19.5 per cent
in India.

The  supporters  of structural  theories believed
that inflation arises due to structural maladjustments in
the county or due to certain institutional features of the
business environment.

One-way payment of money for which no goods or
services are received in exchange.

These are one way payments corresponding to which
there is no value addition in the economy.

Value of Money The value of money is its purchasing power, the
amount of goods and services it can buy. Value of
money is inversely related to price level. When price
level increases, value of money declines.

Velocity of Money The number of times the money stock of turns over per
year in order to finance the annual flow of transactions
or income.

Value of Output The market value of all the goods and services
produced by a firm during a financial year.

Value Added It refers to the addition of value to the intermediate
goods by a firm by virtue of its productive activities.

Wealth Budget Sum of individual’s demand for money and demand

Constraint for bonds is the individual’s total financial wealth.

Wholesale Price Wholesale Price Index represents the rate of increase

Index in the wholesale prices of products.
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